Soap Dispenser Holder for PAD-PARAF (Black/White)

INSTRUCTION MANUAL
ADD-PSPB / ADD-PSPW

( |
| |
| |
| |
| |
| & |
| = e |
| B C M5x10 (2) D M5 Nuts (2) |
| |
| |
| % |
: % |

|
i A E M5x8 (4) F M4x8 (4) |

|

If you want to reinforce, you
can add the 3M sticker.

For some stands only with M4
holes, please fix by M4x8 screws.

p
9 36 Taaffe Place Brooklyn, NY 11205 EZ{ supportactadigital.com \‘ (718) 963-9845 @ www.ctadigital.com



